23,5x16 mm p38

ooo

P28-M238-PAN_15_12-M_IN16-A-KORO01 7..C



A M238-PAN/15/12 30A2-44 219

A B C1|C2|C3 D
1 M238-3005 | 1055 | 280 32 1/2
2 M238-4304 | 316 | 932 16 1/2
3 M238-4305 | 316 | 190 16 1/2
4 M238-4306 | 316 | 382 16 1/2
5 M238-4307 | 1504 | 424, | 16 2/2
6 M238-4308 | 1302 | 316 19 2/2
7 M238-4309 | 316 | 147 16 1/2
8 M238-4310 | 316 55 16 1/2
9 M238-5009 | 1504 | 80 22, 2/2

@ B
®

Z

I _

34)(& 4X @ 2X ang 1x/ 1x/
Q7x60 mm e8 28x50 mm f6 28x30 mm f1 25x11 mm e4 : g41\4L 941 \7
2x / 1x M Ox wmmy) [BX ) |PX () |[32X (ﬁé 1@(&@ 1x Q
q41\16 941 \4P M4x20 mm J1 M4x25 mm j8 M4x38 mm J1 3 D15x12 mm #16 r1 r1 0 212x0.5 mm 359
1x =9 3x cm
o oo 21 75| 0 1 2 3 4 5 6 7 8 9 10
2ex60mn Illll|lIIIIIIll'lIIIIIIll'lIIIIIIll|lllIIIlll'lllIIIIll|llIIIIlll|lllIIIIII|llllIllll'llllIllll'llllI

P28-M238-PAN_15_12-M_IN16-A-KORO1 1.z



M238-PAN/15/12

30A2-44

3/9

r10

14\

6X [

@15x12 mm #16

GM
r110

" f6

.
AN
\\\
N @&
AN
rio - «::>\ \\
o \\\\
AN
AN
II }\\ L;J:.}/
AN \\ _
. ~J .
SO N
rio o e\\\\r']
O\

28x50 mm

4x&

28x50 mm f6

2Xr1

215x12 mm_#16

ZV
r10

4%

@8x50 mm f6

2x

215x12 mm #16

1
ZM
r10

P28-M238-PAN_15_12-M_IN16-A-KORO1./c



A M238-PAN/15/12 30A2-44 419

4x

215x12 mm #16 r1

BX&

28x50 mm f6

6x

215x12 mm #16 r

GM
r10

IT i\\ ‘L‘{fl;L';“' 26%
N -

P28-M238-PAN_15_12-M_IN16-A-KORO1./c



M238-PAN/15/12 30A2-44 5/9




M238-PAN/15/12 30A2-44 6 /9

P28-M238-PAN_15_12-M_IN16-A-KORO1./c



A M238-PAN/15/12

30A2-44

3 g41\4p N’
o
g41\7 N g41\16

-

D

g41\4L

I
3

g41\16

g41\4pP

g41\L

N P

4X 3 1x/ 1x M 1x / 2X /
0830 mm f1 g41\4L] g41\4P| g41\7 g41\16

BXﬂ

j13

M4x38 mm

g4l

X~

z1

3X %
g70

6xw 3x w

i i8

M4x20 mm M4x25 mm

P28-M238-PAN_15_12-M_IN16-A-KORO1./c



M238-PAN/15/12 30A2-44

p75

35

I-4
227mm

1369mm

1142mm

P28-M238-PAN_15_12-M_IN16-A-KORO1./c



A M238-PAN/15/12 30A2-44

AT 7
lob

59

55

7
o
tls




